

# Grünwald-Leitnikov fractional derivative for a product of two functions

Rami AlAhmad

Department of Mathematics  
Faculty of Science  
Yarmouk University  
Irbid, Jordan

email: rami\_thenat@yu.edu.jo

(Received November 3, 2020, Accepted December 15, 2020)

## Abstract

In this paper, we introduce a procedure to approximate the Grünwald-Leitnikov fractional derivative of order  $\alpha \in (0, 1)$  for a product of two functions. This procedure uses the Laplace transform for a product of functions.

## 1 Introduction

In fractional calculus, one can take the derivative a non-integer number of times. An introduction for fractional derivatives was given in [4]. Historically, the concept of the fractional calculus is more than 300 years old. Oliver Heaviside introduced the practical use of fractional differential operators in electrical transmission back in 1890. Recently, scientists and engineers have come to realize the potential fractional calculus presents in applied science. Research has been done successfully on applications using models and tools from fractional calculus, see [7], [8], [9], and [10]. The Grünwald-Letnikov derivative was introduced by Anton Karl Grünwald in 1867 and by Aleksey Vasilievich Letnikov in 1868. The Grünwald-Letnikov derivative [10] is defined as:

---

**Key words and phrases:** Fractional derivatives, Grünwald-Leitnikov fractional derivatives, Laplace transform.

**AMS (MOS) Subject Classifications:** 44A10, 26A33.

**ISSN** 1814-0432, 2021, <http://ijmcs.future-in-tech.net>

**Definition 1.1.** For  $f : \mathbf{R} \rightarrow \mathbf{R}$ , the Grünwald-Letnikov fractional derivative of order  $\alpha$  of the function  $f$  is given by the equation:

$$(D^\alpha f)(t) = \lim_{h \rightarrow 0} \frac{1}{h^\alpha} \sum_{j=0}^{\infty} \frac{(-\alpha)_j}{j!} f(t - jh).$$

The above derivative is also called Forward Grünwald-Letnikov fractional derivative. More details were given by Ortigueira et al. in [11]. The Grünwald-Letnikov derivative was one of the proposed derivatives to answer Leibniz's question related to the definition of the fractional derivative; many investigations were done related to the effective use of this derivative.

Suppose that  $f$  is a real-valued function and  $s$  is a complex variable. The Laplace transform of  $f(t)$  is defined as

$$\mathcal{L}_s(f(t)) = (\mathcal{L}f)(s) = F(s) = \int_0^{\infty} e^{-st} f(t) dt. \quad (1.1)$$

We note that the Laplace transform of the product of two functions is not the product of their Laplace transforms. However, the Laplace transform of a convolution of two functions equals the product of their Laplace transforms.

## 1.1 The Mittag-Leffler functions

Another important tool to deal with fractional calculus is the Mittag-Leffler function  $E_{a,b}(t)$  and it is defined as

$$E_{a,b}(t) = \sum_{n=0}^{\infty} \frac{t^n}{\Gamma(an + b)}. \quad (1.2)$$

**Proposition 1.2.** We have

1.  $E_{0,1}(t) = \frac{1}{1-t}, |t| < 1,$
2.  $E_{1,1}(t) = e^t,$
3.  $E_{2,1}(-t^2) = \cos(t)$  and  $E_{2,1}(t^2) = \cosh(t),$
4.  $E_{2,2}(-t^2) = \frac{\sin(t)}{t}$  and  $E_{2,2}(t^2) = \frac{\sinh(t)}{t}.$

**Definition 1.3.** Define  $\psi_{a,b}(t)$  to be the antiderivative of  $E_{a,b}(t)$ . In this case,

$$\psi_{a,b}(t) = \sum_{n=0}^{\infty} \frac{t^{n+1}}{(n+1)\Gamma(an+b)} = \sum_{n=1}^{\infty} \frac{t^n}{n\Gamma(an+b-a)}.$$

For example,

$$\begin{aligned} \psi_{1,1}(t) &= \sum_{n=1}^{\infty} \frac{t^n}{n\Gamma(n)} = \sum_{n=1}^{\infty} \frac{t^n}{\Gamma(n+1)} \\ &= \sum_{n=1}^{\infty} \frac{t^n}{n!} = e^t - 1, \end{aligned}$$

which is an antiderivative for  $E_{1,1}(t)$ .

For further discussion on the Mittag-Leffler function properties, see [9].

## 2 Preliminaries

In this section, we will give the fractional derivative of order  $\alpha$  for products of two functions. Also, using these results, Lemma 2.1, Theorem 2.2 and differential transform allows us to solve fractional differential equations.

**Lemma 2.1.** [10] For  $\alpha \in (0, 1)$ , the Laplace transform of Grünwald-Letnikov derivative of  $(D^\alpha f)(t)$  is  $s^\alpha F(s)$ .

In [3], an explicit formula for the Laplace transform of a product of two functions is given as follows:

**Theorem 2.2.** Assume that  $\mathcal{L}(f(t)) = F(s)$  and  $\mathcal{L}(g(t)) = G(s)$ . If  $\int_0^\infty \int_0^\infty e^{-(s+\xi)t} g(\xi) f(t) dt d\xi$  converges absolutely for  $s > b$ , then  $\mathcal{L}_s(f(t)G(t))$  is given as

$$\mathcal{L}_s(f(t)G(t)) = \mathcal{L}_s(f(t)\mathcal{L}(g(t))) = \int_0^\infty g(\xi)F(\xi+s)d\xi = \int_s^\infty g(\xi-s)F(\xi)d\xi \text{ for } s > b. \tag{2.3}$$

This theorem can be stated as: if  $\int_0^\infty \int_0^\infty e^{-(s+\xi)t} (\mathcal{L}^{-1}h)(\xi) f(t) dt d\xi$  converges absolutely for  $s > b$ , then

$$\mathcal{L}_s(f(t)h(t)) = \int_0^\infty (\mathcal{L}^{-1}h)(\xi)(\mathcal{L}f)(\xi+s)d\xi = \int_s^\infty (\mathcal{L}^{-1}h)(\xi-s)(\mathcal{L}f)(\xi)d\xi \text{ for } s > b. \tag{2.4}$$

**Example 2.3.** Using the fact that  $\mathcal{L}(\cos(at)) = \frac{s}{s^2+a^2}$ , we get

$$\begin{aligned}\mathcal{L}_s\left(\frac{tf(t)}{t^2+a^2}\right) &= \mathcal{L}(f(t)\mathcal{L}(\cos(at))) \\ &= \int_s^\infty \cos(\xi-s)F(\xi)d\xi \\ &= \cos(s)\int_s^\infty \cos(\xi)F(\xi)d\xi - \sin(s)\int_s^\infty \sin(\xi)F(\xi)d\xi.\end{aligned}$$

### 3 Main result

Using Theorem 2.2 and Lemma 2.1, we have the following result:

**Theorem 3.1.** The Grünwald-Letnikov derivative of order  $\alpha \in (0, 1)$  of  $fg$  is given by:

$$(D^\alpha fg)(t) = \mathcal{L}^{-1}\left\{s^\alpha \int_0^\infty (\mathcal{L}^{-1}g)(\xi)(\mathcal{L}f)(\xi+s)d\xi\right\} = \mathcal{L}^{-1}\left\{s^\alpha \int_s^\infty (\mathcal{L}^{-1}g)(\xi-s)(\mathcal{L}f)(\xi)d\xi\right\}.$$

*Proof.* According to Lemma 2.1, the Laplace transform of  $(D^\alpha fg)(t)$  is  $s^\alpha \mathcal{L}(f(t)g(t))$ . Therefore,

$$(D^\alpha fg)(t) = \mathcal{L}^{-1}\left\{s^\alpha \mathcal{L}(f(t)g(t))\right\}. \quad (3.5)$$

Now, using Theorem 2.2, we get:

$$\mathcal{L}_s(f(t)g(t)) = \int_0^\infty (\mathcal{L}^{-1}g)(\xi)(\mathcal{L}f)(\xi+s)d\xi = \int_s^\infty (\mathcal{L}^{-1}g)(\xi-s)(\mathcal{L}f)(\xi)d\xi. \quad (3.6)$$

Combining (3.5) and (3.6), the result follows.  $\square$

As applications we have the following examples:

**Example 3.2.** For  $\alpha \in (0, 1)$ , we prove that

$$D^\alpha(te^{-t}) = t^{1-\alpha}\left(E_{1,1-\alpha}(t) + \alpha E_{1,2-\alpha}(t)\right).$$

Now,

$$\begin{aligned}D^\alpha(te^{-t}) &= \mathcal{L}^{-1}\left(s^\alpha \int_s^\infty u^{-2}\delta(u-s-1)du\right) \\ &= \mathcal{L}^{-1}\left(s^\alpha(1+s)^{-2}\right).\end{aligned}$$

Now, for  $|s| > 1$ ,

$$\begin{aligned} \frac{1}{s+1} &= \frac{1}{s} \left( \frac{1}{\frac{1}{s} + 1} \right) \\ &= \sum_{n=0}^{\infty} (-1)^n s^{-n-1}. \end{aligned}$$

Differentiating both sides gives:

$$\begin{aligned} \frac{1}{(s+1)^2} &= \frac{1}{s} \left( \frac{1}{\frac{1}{s} + 1} \right)' \\ &= \sum_{n=0}^{\infty} (-1)^n (n+1) s^{-n-2}. \end{aligned}$$

Therefore,

$$\begin{aligned} \frac{s^\alpha}{(s+1)^2} &= \sum_{n=0}^{\infty} (-1)^n \frac{n+1}{s^{n+2-\alpha}} \\ &= \sum_{n=0}^{\infty} (-1)^n \frac{(n+1)\Gamma(n+2-\alpha)}{\Gamma(n+2-\alpha)s^{n+2-\alpha}}. \end{aligned}$$

Hence,

$$\begin{aligned} \mathcal{L}^{-1} \left( \frac{s^\alpha}{(s+1)^2} \right) &= \sum_{n=0}^{\infty} (-1)^n \frac{(n+1)t^{n+1-\alpha}}{\Gamma(n+2-\alpha)} \\ &= \sum_{n=0}^{\infty} (-1)^n \frac{(n+1)t^{n+1-\alpha}}{(n+1-\alpha)\Gamma(n+1-\alpha)} \\ &= \sum_{n=0}^{\infty} (-1)^n \frac{(n+1-\alpha+\alpha)t^{n+1-\alpha}}{(n+1-\alpha)\Gamma(n+1-\alpha)} \\ &= \sum_{n=0}^{\infty} (-1)^n \frac{t^{n+1-\alpha}}{\Gamma(n+1-\alpha)} + \alpha \sum_{n=0}^{\infty} (-1)^n \frac{t^{n+1-\alpha}}{(n+1-\alpha)\Gamma(n+1-\alpha)} \\ &= t^{1-\alpha} \sum_{n=0}^{\infty} \frac{(-t)^n}{\Gamma(n+1-\alpha)} + \alpha t^{1-\alpha} \sum_{n=0}^{\infty} \frac{(-t)^n}{\Gamma(n+2-\alpha)} \\ &= t^{1-\alpha} \left( E_{1,1-\alpha}(t) + \alpha E_{1,2-\alpha}(t) \right). \end{aligned}$$

Therefore,  $D^\alpha (te^{-t}) = t^{1-\alpha} (E_{1,1-\alpha}(t) + \alpha E_{1,2-\alpha}(t))$ .

Interestingly,  $\lim_{\alpha \rightarrow 1} D^\alpha (te^{-t}) = -te^{-t} + e^{-t} = D(te^{-t})$ .

**Example 3.3.** For  $\alpha \in (0, 1)$ , we prove that

$$D^\alpha \left( \frac{e^{-t} + t - 1}{t^2} \right) = t^{-\alpha-2} \left( \psi_{1,-\alpha}(-t) + \frac{t}{\Gamma(-\alpha)} \right) - t^{-\alpha-1} \psi_{1,1-\alpha}(-t).$$

Now,

$$\begin{aligned} D^\alpha \left( \frac{e^{-t} + t - 1}{t^2} \right) &= \mathcal{L}^{-1} \left( s^\alpha \int_s^\infty (u-s) \left( -\frac{1}{u} + \frac{1}{u^2} + \frac{1}{1+u} \right) du \right) \\ &= \mathcal{L}^{-1} \left( s^\alpha \left( (s+1) \ln \left( 1 + \frac{1}{s} \right) - 1 \right) \right). \end{aligned}$$

Since

$$\ln(1+x) = - \sum_{k=1}^{\infty} \frac{(-1)^k x^k}{k} \text{ for } |x| < 1,$$

we have

$$\begin{aligned} (s+1) \ln \left( 1 + \frac{1}{s} \right) - 1 &= -(s+1) \sum_{k=1}^{\infty} \frac{(-1)^k}{k s^k} - 1 \\ &= - \sum_{k=2}^{\infty} \frac{(-1)^k}{k s^{k-1}} - \sum_{k=1}^{\infty} \frac{(-1)^k}{k s^k}. \end{aligned}$$

Hence,

$$s^\alpha \left( (s+1) \ln \left( 1 + \frac{1}{s} \right) - 1 \right) = - \sum_{k=2}^{\infty} \frac{(-1)^k}{k s^{k-1-\alpha}} - \sum_{k=1}^{\infty} \frac{(-1)^k}{k s^{k-\alpha}}.$$

$$\begin{aligned} D^\alpha \left( \frac{e^{-t} + t - 1}{t^2} \right) &= \mathcal{L}^{-1} \left( - \sum_{k=2}^{\infty} \frac{(-1)^k}{k s^{k-1-\alpha}} - \sum_{k=1}^{\infty} \frac{(-1)^k}{k s^{k-\alpha}} \right) \\ &= \sum_{k=2}^{\infty} \frac{(-1)^k t^{k-\alpha-2}}{k \Gamma(k-1-\alpha)} - \sum_{k=1}^{\infty} \frac{(-1)^k t^{k-\alpha-1}}{k \Gamma(k-\alpha)} \\ &= t^{-\alpha-2} \sum_{k=2}^{\infty} \frac{(-t)^k}{k \Gamma(k-1-\alpha)} - t^{-\alpha-1} \sum_{k=1}^{\infty} \frac{(-t)^k}{k \Gamma(k-\alpha)}. \end{aligned}$$

Using Definition 1.3, we get

$$D^\alpha \left( \frac{e^{-t} + t - 1}{t^2} \right) = t^{-\alpha-2} \left( \psi_{1,-\alpha}(-t) + \frac{t}{\Gamma(-\alpha)} \right) - t^{-\alpha-1} \psi_{1,1-\alpha}(-t).$$

## References

- [1] S. Al-Ahmad, M. Mamat, R. AlAhmad, I. M. Sulaiman, P. L. Ghazali, M. A. Mohamed, On New Properties of Differential Transform via Difference Equations, *International Journal of Engineering and Technology*, **7**, 3.28, (2018), 321–324.
- [2] S. Al-Ahmad, M. Mamat, R. AlAhmad, Finding Differential Transform Using Difference Equations, *IAENG Int. J. Appl. Math.*, **50**, (2020), 127–132.
- [3] R. AlAhmad, Laplace transform of the product of two functions, *Italian Journal of Pure and Applied Mathematics*, **44**, (2020), 800–804.
- [4] R. Alahmad, A. Abdelhadi, Introduction to Fractional Calculus, *Advances in Science and Engineering Technology International Conferences*, Dubai, United Arab Emirates, (2019), 1–5. doi: 10.1109/ICASET.2019.8714417
- [5] R. G. Buschman, A substitution theorem for the Laplace transformation and its generalization to transformations with symmetric kernel, *Pacific J. Math.*, **7**, (1957), 1529–1533.
- [6] R. G. Buschman, An integral transformation relation, *Proc. Amer. Math. Soc.*, **9**, (1958), 956–958.
- [7] A. Erdelyi et al, *Tables of Integral Transforms*, **1**, McGraw-Hill, New York, 1954.
- [8] I. S. Gradshteyn, I.M. Ryzhik, *Table of Integrals, Series, and Products*, (eds.: Daniel Zwillinger, Victor Moll), Eighth edition, 2014, 1184 pages.
- [9] M. G. Mittag-Leffler, Sur la nouvelle fonction  $E(x)$ , *C. R. Acad. Sci. Paris*, **137**, (1903), 554–558.
- [10] M. Ortigueira, J. Trujillo, Generalized Grünwald-Letnikov Fractional Derivative and its Laplace and Fourier Transforms, *J. Comput. Nonlinear Dyn.*, **6**, (2011), 034501.
- [11] M. Ortigueira, J. Machado, Which Derivative? *Fractal Fract.*, **1**, no. 1, 2017, 3.

- [12] I. Podlubny, Fractional differential equations: an introduction to fractional derivatives, fractional differential equations, to methods of their solution and some of their applications, Academic Press, **198**, 1998.
- [13] Walter Rudin, Real and Complex Analysis McGraw-Hill Science/Engineering/Math, Third edition, 1986.
- [14] Joel L. Schiff, The Laplace Transform: Theory and Applications, Springer, 1999.
- [15] L. Gaul, P. Klein, S. Kempfle, Damping Description Involving Fractional Operators, Mechanical Systems and Signal Processing, **5**, no. 2, (1991), 81–88.
- [16] R. J. Marks, M. W. Hall, Differ-integral Interpolation from a Bandlimited Signal, IEEE Transactions on Acoustics Speech and Signal Processing, **29**, no. 4, (1981), 872–877.
- [17] K. B. Oldham, J. Spanier, The fractional Calculus Mathematics in Science and Engineering, **111**, Academic Press, 1974.
- [18] R. Metzler, W. Schick, H. G. Kilian, T. F. Nonnenmacher, Relaxation in Filled Polymers: A fractional calculus approach, Journal of Chemical Physics, **103**, no. 16, (1995), 7180–7186.